oB(r)
ot
Vx(VXE(r))=V(V-E(r))-(V-V)E(r)=-AE(r)
_vxaB(r) =—£(V><B(r)):— 0 ( 12 aE(r)j
ot ot ot\c? ot
1 0°E(r)
c® oOt°
1 0°E(r)

) c® ot°

VxE(r)=-




1 oE(r)
VxBI(r)=
(r) c® ot

Vx(VxB(r))=V(V-B(r))-(V-V)B(r) =-AB(r)
C ot c” ot c-ot\ ot
_ 1 0°B(r)

- ¢? ot?

1 0°B(r)
AB(r) = -3
(r) c’ oOt?




AE(r t) =

1 0%E(r,t)

c*

ot?

(E, (r,t)
E,(rt) |=S—
\E,(r,t))

y y

0°  0o° 82
_I_
[8x2 oy’ E

jE (r,t) =

C

(E, (r,t)
E,(r,t)

2 atZ
\E,(r,t))

1 07

2 atZ Ey (r’t)

E (r,t)=E,(r,t)=0



V-E(r,t)=0

iEx(r,t) +£Ey(r,t) +iEZ (r,t)=0
OX oy 0z
E (r,t)=E,(r,t)=0
iEy(r,t):O
oy
y y



+X

0° 1 ¢°

X2

ot*
E, (X £ct)

E, (X,t) = E cos(kx — at)
k:2_7z @ = 27
A

A f

B, (X,t) =B cos(kx — wt)

E, (X,1) =C—2—Ey(x,t)

B=E/cC



|

’
1 : “‘W |

http://web.mit.edu/8.02t/www/




#1

EHEOERSARTR

e EEhE EE {EEhE
M Hz m Hz
417 + 1o
o RS e | - fn.ﬁl?
T e L FEITE ‘*mﬂ;w*e”r g-g‘s';
':Eﬂ Mg em e s N 0SSk 400 nm
107 e —— 107 \ A
{1 km 043
10e + 1am =
. +038L
—_—
AM i OMHD el g
107 i
10 104 -”‘uE'i
FM —_— Ty SR L + tam
i 1™ == -
| 10 (1 A ] —
'. Sl 1 'Im.l:l
LAN{ 100 1o L 0.1 nm
- 1™ =} 1u0pe
1t & e L ey
Bf 0O .
i g T T
1ot 4 ~ T 8
{ mmil copszijimp| 4100 o7 I Y
{1 THZ
e 4 1T+
il 4 19 4 1o
— e T e 4 L
10.64 m o WEDEESWOEECL S5 0H ERRLATSH M

FRmAICLE,
= AMARCIERALSHIETRRICIEARNE D,

[t ALET&ER: THERE PR ABREEH
desTiEr B2a B psoi

800 nm



F(r)=q(E(r)+vxB(r)) F(r)=a(Er)+v=B(r))

[E@)-dS = [ pr)dv
)L [ 20 o gy [@[E@ds=[pn0av ¢ 1ol e
4nco fr —rf E(r)-d oB
§ (r)-dr =0 jSE(r)-dr:—I%-dS
;fB(r)-dr:yoi(j(rhgan@Er)j-dS

B(r) = ﬂojj(r )xer av' §BE)-dr = [ i(r)-dS
r-rf’ jB(r) .dS =0

[B(r)-ds=0

S






